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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE
(1)  This booklet contains 100 Questions in all comprising the following Three parts.

Part-(I) : General Awareness (40 Questions)
Part-(ll) : Mathematics (30 Questions)
Part-(lll) : General Intelligence and Reasoning (30 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.
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General Awareness

Cyril Ramaphosa, who has secured a second term as
the President of South Africa belongs to which political
party?

(A) Democratic Alliance (DA)

(B) Economic Freedom Fighters (EFF)

(C) African National Congress (ANC)

(D) Inkatha Freedom Party (IFP)

Which among the following is the currency of the
Kingdom of Norway?

(A) Norwegian Peso (B) Norwegian Krone

(C) Norwegian Dinar (D) Norwegian Baht

Which type of note-issue system is followed in India for
the issue of the currencies?

(A) Minimum Reserve System

(B) Maximum Reserve System

(C) Maximum Fiduciary System

(D) Fixed Fiduciary System

According to Census 2011, which state was recorded
with the lowest population in India?

(A) Uttar Pradesh (B) Haryana

(C) Sikkim (D) Arunachal Pradesh

Surface-Tension between the molecules of the liquid is
due to which of the following forces?

(A) Gravitational Force (B) Electrical Force

(C) Cohesive Force (D) Adhesive Force

Which of the following path is traversed by the particle
when dropped from the top of tower on the ground with
distance equal to the height of the tower?

(A) Linear Path (B) Circular Path

(C) Hyper-parabolic path (D) Parabolic path

During the motion of the projectile fired from the Earth’s
surface which of the following factor remains constant?
(A) Momentum

(B) Kinetic-energy

(C) Horizontal component of its velocit

(D) Vertical component of its velocity

Water can be separated from the alcohol-water mixture
by which of the following process?

(A) Evaporation (B) Sublimation

(C) Distillation (D) Decantation

Which of the following is the longest tributary river of
India?

(A) Brahmaputra (B) Yamuna

(C) Krishna (D) Kaveri

‘Sparkling of Diamond’ occurs due to which of the
following phenomenon?

(A) Dispersion of light

(B) Diffraction of light

(C) Total Internal Reflection of light

(D) Refraction of Light

Which of the following chemical released by
Chlorofluorocarbons is harmful for the Ozone-layer?

(A) Sulphur dioxide (B) Nitrogen Peroxide

(C) Chlorine (D) Fluorine
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USB, a standard type of connection for many different
kinds of devices stands for ............ 2

(A) Universal Standard Browser

(B) Universal Smart Browser

(C) United Service Bus

(D) Universal Serial Bus

What is the term used to refer to a situation when there
is only one buyer and one seller of a product in the
market?

(A) Oligopoly (B) Public Monopoly

(C) Bilateral Monopoly (D) Franchised Monopoly

Who among the following is the Supreme Commander
of The Indian Defence Forces?

(A) Prime Minister of India

(B) President of India

(C) Defence Minister of India

(D) Council of Ministers of India

Which of the following physical quantity is the Sl unit of
Frequency?

(A) Hertz (B) Joule

(C) Farad (D) Watt

According to the Second Law of Motion, for a given
force, acceleration is inversely proportional to .......... of
an object?

(A) Volume (B) Density

(C) Mass (D) Velocity

Which of the following chemical-compound is used for
the ripening of the mangoes?

(A) Calcium Chloride (B) Sodium Chloride

(C) Calcium Carbide (D) Potassium Sulphate

Goitre is caused due to the deficiency of which of the
following element?

(A) lodine (B) Chlorine

(C) Zinc (D) Calcium

Where has the 2024 India-IORA (Indian Ocean Rim
Association) Cruise Tourism conference held?

(A) France (B) Indonesia

(C) India (D) Malaysia

Which among the following was the capital of the
Mauryan Kingdom?

(A) Vaishali (B) Lumbini

(C) Bodh-Gaya (D) Patliputra

Which endocrine gland is situated in the lower part of
the neck on the thyroid cartilage?

(A) Adrenal Gland (B) Pituitary Gland

(C) Thyroid Gland (D) Pineal Gland

Which among the following is not a part of the Large-
Intestine?

(A) Ascending Colon (B) Sigmoid Flexure

(C) Adam’s Apple (D) Taenia Coli

How many lobes are present in the right-lung of the
human-being?

(A) 3 lobes (B) 4 lobes

(C) 1 lobe (D) 2 lobes
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The Battle of Plassey was fought between whom in the
year 17577

(A) Haider Ali and British East India company

(B) Tipu Sultan and British East India company

(C) Siraj-ud-Daulah and British East India company

(D) Mir Qasim and British East India Company

Who among the following was the Chairman of the
Partition Council of India 19477

(A) Dr. Rajendra Prasad (B) Mohammad Ali Jinnah
(C) C. Rajagopalachari (D) Lord Mountbatten

Vernacular Press Act,1878 was proposed by which of
the following British Viceroy?

(A) Lord Reading (B) Lord Erwin

(C) Lord Lytton (D) Lord Minto

‘The Al-Hilal’ an Urdu weekly newspaper was started by
Maulana Abdul Kalam Azad in which year?

(A) 1916 (B) 1915

(C) 1912 (D) 1918

The Presidential Ordinance remains in force for how
many months before being approved by both the
Houses of the Parliament?

(A) 6 months (B) 3 months

(C) 2 months (D) 7 months

Under which of the following article, emergency is
declared by the President on account of war or external

aggression?
(A) Article 353 (B) Article 352
(C) Article 354 (D) Article 351

Which of the following amendment contains the
provisions which are necessary for the implementation
of the GST Regime?

(A) 122" amendment (B) 118" amendment

(C) 101t amendment (D) 1039 amendment

Which of the following river passes through Kaziranga
National Park located in Assam?

(A) Yamuna river (B) Brahmaputra river

(C) Ganga river (D) Krishna river

Which of the following is the principal organization for
regulating the stock-exchanges in India?

(A) RBI (B) IRDA

(C) BSE (D) SEBI

Which type of bond is formed by the sharing of
electrons between by two or more atoms?

(A) lonic Bond (B) Metallic Bond

(C) Co-ordinated bond (D) Covalent bond

Who is the first Indian ever to win a three star Grand
Prix title in equesterian?

(A) Shruti Vora (B) Dhinidhi Desinghu

(C) Likith SP (D) Srihari Nataraj

Which city is set to host the Law Conference on New
Criminal Justice Reforms?

(A) Mumbai (B) Delhi

(C) Chennai (D) Kolkata
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Which instrument was developed by Department of
Atomic Energy to measure the traces of Uranium in
water?

(A) Cathetometer (B) Fluorimeter

(C) Cryometer (D) Fathometer

‘Tabal Chongli’ is a form of folk dance of which of the
following Indian State?

(A) Assam (B) Bihar

(C) Madhya Pradesh (D) Andhra Pradesh

Which of the following input device coverts bitmap
images of the characters to equivalent ASCII codes?
(A) MICR (B) Scanner

(C) OCR (D) OMR

Which process involves the use of two or more central
processing units within a single computer system?

(A) Multitasking (B) Multiprogramming
(C) Multiprocessing (D) Multithreading
When is 'World Polio Day' celebrated every year?
(A) On 25 October (B) On 24 October
(C) On 22 October (D) On 20 October

Mathematics

The ratio of two numbers is 2:9. If their difference is 70,
then what is the smaller number?

(A) 15 (B) 20

(C) 25 (D) 30

How many numbers between 950 and 1050 leave a
remainder of 6 when divided by 7,8 and 14?

(A) 1 (B)3

(C)4 (D) None of these
What is the fourth proportional to 72, 168 and 1507
(A) 450 (B) 300

(C) 350 (D) 400

Ram is five times as efficient as Rohit. Ram can
complete a work in 60 days less than Rohit. If both of
them work together then in how many days the work
would be completed?

(A) 10 day (B) 12.5 day

(C) 15 day (D) 20 day

A man travels 1 hours of the journey at a speed of 50
km/hr and remaining 4 hours of the journey at 60 km/hr.
What is the average speed (in km/hr) of the entire
journey?

(A) 55 km/hr (B) 58 km/hr

(C) 56 km/hr (D) 57 km/hr

Sonu travelled a distance of 88 km in 8 hrs partly on
foot at the rate of 8 km per hour and partly on a bicycle
at 16 km per hour. What is the distance he travelled by
bicycle?

(A) 80 km (B) 40 km
(C) 48 km (D) 24 km
Simplify: (-5.5) (- 5.5) + (- 5.5 + 0.5) + 0.05
(A) 6.10 (B)-6

(C)6 (D) - 6.05
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The difference in selling price of an article at a profit of
8% and 10% is Rs. 3. What will be the selling price
when the profit is 8%7?

(A) Rs.162 (B) Rs.165

(C) Rs.150 (D) Rs.145

Find the unit digit of the following 271x82+131-15+331
(A)7 (B)O

(€)1 (D)9

If the HCF of m, n is 14 where m and n are positive
integers m > n > 14. What will be the smallest value of
m and n respectively?

(A) 28, 14 (B) 42, 28

(C) 14, 28 (D) 28, 42

If (3x — y)/(x + 3y) = ' then find the value of (4x —y) /
(4x +y) =7

(A) 3/5 (B) 1/3

(C) 1/5 (D) 2/5

8 men or 24 children can finish a work in 33 days so
number of days required by 12 men and 36 children to
finish three times of such work.

(A) 11 day (B) 22 day

(C) 33 day (D) 44 day

When Rs. 234 is divided among Ram, Shyam and
Mohan in the ratio of 1/2 : 1/3 : 1/4 but by mistake it was
divided in the ratio of 2: 3: 4 What is the excess
amount received by Mohan ?

(A) Rs. 54 (B) Rs. 52

(C) Rs.104 (D) Rs. 50

The average weight of 6 student’s increases by 1.5 kg
when a new student comes in place of one of them
weighing 35 kg. What might be the weight of the new

person?
(A) 34 kg (B) 45 kg
(C) 44 kg (D) 36.5 kg

Price of 4 meter of the cloth is Rs. 60. Find the cost
price of 10 meter cloth?
(A) Rs. 145
(C) Rs. 130

(B) Rs. 150
(D) Rs. 125

A employee suffers 25 % cut in his salary. By what
percent his reduced salary should increase so that he
regains his original salary?
(A) 331/3 %

(C) 20 %

(B) 27 % %
(D) 33%

The product of two consecutive even numbers is 1088.
Find the lowest number among them.

(A) 36 (B) 32

(C) 34 (D) 38

One child was playing with a thread of 44 cm. First he
made a circle with that thread and after that he made a
square with the same thread. Find the difference
between the area of circle and square?

(A) 22 sqg cm (B) 44 sq cm

(C) 56 sq. cm (D) 33 sqgcm

If 2 cos?0 — 1 = 0 then value of tan? 8 + cot 26 =?
Where 6 is less than 90-
(A) 1
(€)o

(B) 2
(D) V2
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The sum of two digit of a number is 7 if 9 is added to
the number the digits get interchanged. Find the original
number.
(A) 43
(C) 34

(B) 25
(D) 52

A factory produced 1858509 toys in the month of
January, 7623 more toys produced in the month of
February and owing to short supply of electricity 25838
less toys produced in march. What is the total
production in three month?
(A) 5557312

(C) 5563735

(B) 5564935
(D) 5545935

Aryan invested Rs. 13,500 in fixed deposit in a bank.
How much amount will he get on maturity if he invested
it at 20 % per annum compound interest for six months
compounded quarterly?

(A) Rs. 14883.35 (B) Rs.14887.75

(C) Rs. 14883.75 (D) Rs. 14884.35

Simplify the following 343 + (7 2)* +7x49=?
(A) 1/49 (B)7
(C) 177 (D) 49

When the altitude of the sun changes from 45° to 30°.
The shadow of the tower becomes 30 meters longer.
Find the height of the tower?
(A) 15 (N3 +1)

(C) 15V3

(B) 15 (V3 -1)
(D) 30(N3 +1)

Four Contactors names A, B, C and D started a
business in partnership. A has 18 workers that work for
4 months, B has 25 workers that work for 2 months, C
has 28 workers that work for 5 months and D has 21
workers that work for 3 months. If A got Rs. 7200 then
what is total profit?
(A) Rs. 26000

(C) Rs. 32500

(B) Rs. 22500
(D) Rs. 35000

Priya invests Rs. 100 at the start of each year at 5 %
interest per annum. How much will her investment be at
the start of third year?
(A) Rs. 300

(C) Rs. 215.25

(B) Rs. 315.25
(D) Rs. 315

Age of a Mother and her daughter are 50 and 16 years.
In how many years will the mother be thrice as old as
her daughter?
(A) 3 year
(C) 8 year

(B) 6 year
(D) 1 year

Direction (68-70): study the following graph and answer the

question.
Following graph shows books sold by three different

booksellers in six different months.
120

~—4—ShopA —ii—ShopB ShopC
100 —h 100
50 =
80 = =5 8- '
78
60 —Sf—— 68 68
60
40
a0 —20 32
25 0 42
35
20
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What is the ratio of total number of book sold by Shop A
in January, March and May to the book sold by shop C
in February, April and June?
(A) 11:14

(C)99:124

(B) 14 : 11
(D) 33:38

Books sold by shop A in march is how much percent
more or less then the books sold by shop B in May?

(A) 75 % more (B) 75 % less

(C) 25 % more (D) 44 % less

Books sold by shop A in July is 20 % more than what it
sold in June. Then what is the average of number of
book sold by Shop A in July and books sold by Shop B
in June?
(A) 144
(C) 113

(B) 72
(D) 64

General Intelligence and Reasoning

Which of the following figure will complete the pattern in
the question figure?

/

(B)

WV

‘LA/A
W N\
il | .

'.

(C)

Students are sitting in a row in which the position of X is
17th from the left and that of Y is 14th from the right. If
they interchange their positions, X's position becomes
7th from the left. How many students are there in the
row?

(A) 19
(C) 21

(B) 20
(D) 22

Pointing to a lady, Anju says, "She is the sister of my
brother's mother". How is the lady related to Anju?

(A) Mother-in-law (B) Niece

(C) Aunt (D) Sister

A cyclist rides 20 km to the east, then turn north and
rides 20 km, again turns left and rides 20 km. How far
he is from the starting point?

(A) 0 km (B) 10km
(C) 20 km (D) 30 km

If 19@2#13=51 and 14@3#9=51, then 15 @ 3#6 =7
(A) 55 (B) 69

(C) 51 (D) 76

Choose the number which is related in the same way as
the Alphabet and Number related in the first pair.
D:24:: F:?

77.
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(A) 48
(C) 12

(B) 45
(D) 34

962 + 272 is equal to?
(A) 932 + 292
(C) 862 + 372

(B) 722 + 692
(D) 762 + 472

Select the related letters from the given alternative

KMOQ: PNLJ:: UWYA: ?
(A) ZUXV (B) CVXT
(C) ZXVT (D) BXYV

Two statements are given followed by two conclusions
I and Il. You have to consider the statement to be true,
even if it seems to be at variance from commonly
known facts. You are to decide which of the given
conclusions can definitely be drawn from the given
statement.

Statement: I. All Rainbows are colours

Il. Some colors are Red.

Conclusion: I. All colors can be Rainbow.

Il. Some Rainbows are Red.

(A) If only | follows

(B) If only Il follows

(C) Neither | nor Il follows

(D) Both I and Il follow

Introducing a woman to his wife Raghav said, “Her
sister’s father is the only son of my grandmother”, How
is the raghav related to this woman?

(A) Cousin (B) Uncle

(C) Brother (D) Nephew

Arrange the following in dictionary order

1. Intensity 2. Intellectual
3. Intend 4. Intelligent
(A) 2413 (B) 3214

(C) 4213 (D) 2431
Find the missing term in the series.

A/ B,F,OE?

(A) D (B)J

(C)C (D)P

If “ and ‘X’ are interchanged and 5 and 16 are
interchanged what is the value of given below
5+12+6-4x16
(A)-3

€9

(B) 19
(D) 29

If ZIP =33 and ZAP =41 then what is the code for RUN
=?

(A) 38
(C) 31

(B) 53
(D) 51

Read the statement and select the conclusion out of
given alternative

Statement: Most of the toys are in the shop is
expensive.

(A) There are cheap toys also in the shop

(B) Handmade toys in that shop are cheap.

(C) Some toys in that shop are expensive.

(D) There are no cheap toys available in that shop.

A
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How many parallelograms are there in the given figure?

VAVAVAN

(A) 7 (B) 4
(€)5 (D)6

Which of the following is same as Sivalik, Himadri,
Himachal
(A) Kandla
(C) Kudankulam

(B) Karakoram 93.

(D) Johra

Which statement is required for giving the correct
answer of the following question? Choose the right
alternative.

How many students are there in the row?

I. Abir is 14th from the left and 16th form the right.

Il. There are 8 students before Rahul and 10 after him.
(A) If only | is sufficient

(B) If Only Il is sufficient.

(C) Either | or Il is sufficient

(D) If both | and Il together are sufficient.

94.
95.

96.

Identify the diagram which that best represents the
relationship among the given classes Animal, Giraffe
and Herbivorous

©
©0  |@m

There are some chocolate in a box and in every minute
they get double after 20 minute the box is full then how
many minute before one fourth box was full?

(A) 10 minute (B) 19 minute

(C) 18 minute (D) 5 minute

(A) (B)

97.

© 98.

99.

Choose the wrong number in the series
2,4,8,3,9,27,4,12,64,5
(A)8
(€5

(B)9
(D) 12

Assertion and Reason are given below choose the
correct option.

Assertion (A): Nainital is colder than Mumbai.

Reason (R): Mumbai is bounded by Arabian sea.

(A) A and R both is true but R is not correct explanation
of A.

(B) A and R both is true and R is correct explanation of
A

(C) Ais true and R is false

(D) A is false and R is true

Direction (93-95): Read the following information carefully

and answer the question:

There are six person in a family three males and three
females. Each of them like different fruits Mango, Apple,

100.
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Grapes, Kiwi, Orange and Guava. There are two are
married couple and two are unmarried person.

Sheetal who like apple is mother-in-law of Ankita who is
wife of Rahul. Dinesh is Rohan’s father and he does not
like Mango and Guava. Bhavna likes orange and
Rohan’s sister who is sister in law of Ankita. Rohan
likes grape and unmarried man. Rahul does not like
Guava.

Which of the following is one of the married couple?
(A) Sheetal - Dinesh (B) Bhavna - Dinesh
(C) Bhavna - Rahul (D) Sheetal - Rahul

Which of the following fruit does Rahul like?

(A) Grapes (B) Kiwi
(C) Mango (D) Guava
How is Rohan related to Sheetal?
(A) Son-in- law (B) Son
(C) Nephew (D) Brother
Insert the missing character?

29 21 20

17 15 8

25 24 4
(A) 15 (B)9
(C) 11 (D)7

Which two month in a year has the same calendar?
(A) April, July (B) August, November
(C) January, September (D) October, December

Select the number which is different from other three.
(A) 8839 (B) 5878
(C) 6682 (D) 9748

A boy goes to market with the following price range of
item in his mind.

1. Wallet between Rs. 100 and Rs. 150 per wallet.

2. Belt in price between Rs.50 and Rs.80 per belt

3. Deodorant at 130 per piece.

In which shop he will definitely get all her item in range.
(A) Shop A sells a wallet at Rs. 15 two belts at Rs. 160
and two deodorant at Rs.260

(B) Shop B sells a wallet at Rs. 130 Belt at Rs. 75 per
belt and deodorant at Rs.135 per piece.

(C) Shop C sells three wallets at Rs. 300 two belt at Rs.
150 and two Deodorants at Rs. 280.

(D) Shop D sells two wallets at 250 Rs, two belts at
Rs.150 and deodorant at Rs.130 per deodorant.

Choose the figure which is different from the rest three.

(1) (2) (3) @
(A)1 (B) 2
(€3 (D) 4
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